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- acre2eseaes — (gereacsesH(ba))2 /(gereaeses ) H(mall4)
gereacacacs — (gclmgcs)2H(m4||4)/(QC1CQC3CSH(1;4))
me acreaeseaeses — (gereaeseresH(b6))2 /(gereaesees) H(me|l6)

9010203040506 — (90102036465)2H(m6||6)/(901626304C5H(b6))

O 6.3: Dual Accumulator 0 O O UK-DAO OO OO
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6.2. d J0OUOUK-5 [0

6.2 o6 0U0U0OUK-0 [

6.2.1 00O

UK2[12]0 00000000 20 (1,H(bk)), (2,H(m,|li)) 00000000 600000
(6, H(b;)), (0+1,H(ml[s)) D0OO0OOOO0O

130000000000 0000000VK2(12]0000000000000000
Hml))DODODODO0O Hk) O H(b) = (ex + H(m||i))/2000000000
000000000 »,0 1/20000000000006000000000600000
D00ooo0ooo

6.2.2 0000

00000 f(z)00000
f(0)
f(8) = H(b),
f(6+1) = H(m),
0000000 (06400)0000000000000000000000000000
0000000000HOO0000000000

€,

007 HG)O H(m)O OO

@+
= G-V 551
— (G4 DFO) =SS+ 1)

= (0+1)H(b)—dH(m)O

f(6+1)

008 al H(m)O H(b)OOO

at = a(6+1)H(b)/a5H(m) — af(O) mod NO

6.2.3 0O0O0ODO

OOOCOCORSAODODOO NODOODOODUOODDODODOOpkO skOOODOOONDDOD
O00eezZyO0ODOOOOOODODO /DODDOO/0O0DOOODOOO

o0 oooo m,...,m,00000000 skDeDDOO 6
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6.2. d J0OUOUK-5 [0

0 o O+l

0 6.4: UK-6

Step 1: 00000 m; 000000 »;000000000000000000 fi(x)00O

oo

fi(0) = e,

fi(6) = H(bi),

fi(6 +1) = H(my[i),
0000 0000000000 00000000000 00O0OHOOOODOO
ooogo

Step 2: ¢ *»mod NOOUODOODOODODOO skO00O0OOOOO
o = Signg,(a®°" mod N)
gooobgo

00 0000000 my,...,m,000 by,...,0,0 0000000 aqp=a000 500
OM={l,...,n}0S=D=¢

000 M, S, DO0O0000OCOO0OOOOOOOOOOOOODOODOOOMOOO (O
00000000000 0oooO)osSooooopU0oOooooOOoooooooDOO
gboooooboobooboboooo

6.24 00O

00 0000000 {mi e MUD}OODO {b)i e M}OODOO000D0 {a]i € DU{0}}D
00 6000 MOSOD

e ;OO

Step 1: 000 M« M\ {i}0S— Su{i}000000
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6.2. d J0OUOUK-5 [0

Step 2: m; 0 b, 00000 8O O0OOMO
ap — ag'

gooooo

Step 3: m;p; OO0 O0ODO0O
o :JOOODOOO

Step1: 000 M — M\{i0D—DuU{i} 0000
Step 2: 00 800000 {m;|j e M}O {bjlj e M}UaoDODO

a; — aliemuse; H(bi)

ooood
Step 3: p, 0 OOODO

00 0000000 {myi e MUD}OODO {b)i e M}OODOO000O0 {a]i € DU{0}}D
006000 MOSOD

oo0oooOobooOoooooDbog M S, DY, 0000

6.2.5 0000

00 0000000 {mlie M*uD*}000 {bli € M*}00000000 oo, {ali €
D000 6000 M*O0S*0OD0O0D000000 pk

Step 1: 0000000 O0OD 00000 p*000000¢eM*ODO0O00m;0O b;
O«0*0000008000

0 — (%)% = (o) OFDHG) j(o#)SHmilli)
O000«*00000000000000O0a* =dNerusresgpoooQ
Step 2: e D*00000m;0 ;00008000 0O00O
0 — () 0D J () HOmll)

Obdbe*000000bobO:00opobobbboboobooboobDobLDoDOoD
gboboboobobooooon

a® = a2 mod N
gooo
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6.3. OO

Step 3: 0D OODODO pkODOOO
Verify,, (o, a™) £ valid

gooooo

6.2.6 0O0OO

J000UK- 0000000 65000000000 n=600000 D = (mg,mg)0
000 S={me,m3} 0000000000000 OODOOOOOOOOOOODOOD

6.3 0UU

6.3.1 0O0O0OO0OOO

Dual Accumulator 000 0000000 D0ODODODODOOOOOOOOODOOODOODOOO
06100000000000000000000 62000000000000SUMI-5[1)
O SUMI-6[2|0 UK2[12) 00000000 nO000D0DO0OO0KODODODOOODOOOOYDODO
0000000000006 000 UK2[12]000 0 Dual Accumulator 000 000 2
gboooboboobooboobobooboo

de6l:000000000000000O0O

0 SUMIL-5[1] | SUMI-6[2] | UK2[12] | DAOD 500
oo n—=k n—=k n—=~k n—=~k n—=k
goooooo n 0 {41 50+ 2 41
oo n—kn—4¢ 0 n—k—f|n—-k—f¢|n—-k—0+1
0od 1 1+n—k—4¢ 1 1 1
000 O(n) O(n —k) On—k) | On-—k) O(n —k)
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6.3. 00O
o000 m, mi mg ms My ms meg
00 00 b by bs b3 by bs bg
0ooooodd o] a
00000000 |M = {1[ROBMBO6}OS = ¢lD = ¢
ooogd m, mi mfa m3 ma ms me
me 000 00 b by Yo b3 by bs bg
000odoonoO o) a®?
00000000 |M = {I03M0506}0S = {2}0D = ¢
oood m; my nla ms ma ms me
me 0000 00 b, bi b by by bs s
00000000 o4 a® acrezeseacsH (bs)
00000000 |M = {103M05}0S = {2}0D =0 60
oood m; my nfa m3 ma ms me
m,0000 00 b, by b by b bs W
00000000 o a qe1e2eses H(ba) qere2eseacs H(bo)
00000000 |(M = {105}0S = {2}0D =0 6040
0000 m; mi na ni3 o ms me
ms 000 00 b, b b b W bs s
00000000 o a2 qe1e2eses H(ba) ere2eseacs H(be)
00000000 |M={105}0S = {203}0D =0 6040
my qere2es — (qe2es)(6-+DH(b) /(geres)SH (mal1)
00 s qereaeaes — (gerezea)(G-+DH(bs) /(gereaea)dH (msl[5)
ma gerereseacs — (geresesesH(ba))(3+1) /(gereacses)3H (mall4)
me gereacseacses — (gereacseacsH(bo))(8+1) /(gerereseacs )3H (mo|16)
0 6.5: 600 (UK-6)OOOD
062 000000
u UK2[12] DAODO o000
RN 2n 4dn 2n
ooo 2k 4k 2k
0o (2n —2k —0)0 | (2n—2k —0)20+ 40 | (2n — 2k — )¢
o0 2n — 2k — ¢ dn — 4k + 20 2n — 2k — ¢
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